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Twentieth International Mathematics Contest (Taiwan)
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— v ERI(FILL0 A > £ 250 4)

1.2% 6%-43°-32412=0 2 5435 a ~ B> Pla*+f2= - (A)3 (B)4 (O)5 (D)6
<fE{7>

Ja %0 2%3% -4:3%-3-2+12=0

—3%(2%-4)-3(2%-4)=0

—(2%-4)(3*-3)=0

254 8 3R3—-x=2 B x=1

S.a=2> B=l—>a*+B*=5% Ce

E
: : -, , 4D
2. As shown in the figure on the right, AE is tangent (*7 %) to the
circumcircle of quadrilateral ABCD at point 4. If ~/DAE=12", arc
AB, arc BC and arc CD are equal in degree, then ~ABC=? (A)48°
(B)58" (C)68° (D)78° B C

<jE$7>
arc AD =12°x2=24°
arc AB= arc BC= arc CD=§ (360°-24°)=112°

4ABC=%(112°+24°)=68° ' iE Co

3% a~b~c i Hc F = S fix)=ax*tbxtc @A (0, -1) 2 & x ghipr o T 7
T RE R R B2 @a<0 @b>0 Oc=-1 @b*+4ac=0 Oa+b+c<0
A~ ®-O®B)O0-66((C)®@-03~-®D0O0~20- @

<jE$7>

£ R0)=-1—>c=-1 > b*-4ac=0—b*+4a=0

(0, -1)>a<0 b ¥4 7 &t

(LAY 2T 2 %7 gBofix)atb+c<0

KO- ~OrFE A

4. Andy observes the number of bacteria. It is found that every hour will increase by 3 times
compared with the previous hour. If there are 90,000 bacteria now, how many bacteria were
there 2 hours ago?

(A)45000 (B)30000 (C)11250 (D)10000
<fE$7>

£ R kR Lx 8

xx3x3=90000 > x=90000-+9=10000

# Do

5.x >~y & & L: 3x+4y=1 > E‘J\/(x-1)2+()/-2)21 20 T = - (A)l (B2 (C)3 (D)4
<f#47>

4/ (-1 +(-2)*—=>P(x, ») FI(1, 2) 2 FE#E

. 2T, PR v [3X144x2-1] 10 _ -

2 P L:3xt4y=1> I /] FES PW_?_Q’ 12 Bo

- & A F(0 & )
Taiwan Preliminary (Grade 10)



6.3k E & L kxt3y+10=0> 2R C:x* =4 & X 8 Bl & ken® s B B2
AL B2 (O3 (D)4

<ﬁ’iﬁ>

>2 Lje —>1 5>Vx249 » K2<16—>-4<k<4 » k=1 ~2 3
s M e
#E Co

7.3k n & Bl P8 125" BN A 5 10 e Pl < an @ g % 02
(A)100 (B)101 (C)102 (D)103  (logl.25=0.0969)

<fai7>

10°<1.25"<10'0 » = 10°%99=1.25

—10°<(10%99y<10'° » 9<0.09697<10

—92.8<n<103.1 > n=103 » ¥ D o

8. 1 & %]ség AR - N R R E AR s 2R - 10 oo dmE- 420 7
RS 60 0 30 R A AR AgR B EehiRT o Bl E
i PR '/z‘"ﬁ }.—Bf ? (A)13 (B)12 (C)11 (D)10

<frti>
ReFFxF wER W
O 10x+20y<60=>»x+2y<6
Ox+y=>2

x=0 y=0 x~yeZ

% =0 x=2~6>73 5F&
%=l x=1~4>3 45

B =2 x=0~2>73 34
$=3>x=0 -3 1
£3 13460 # A

9. 4+ B > ¢ &/ \OBE erhm ## £ 5> ANOBC e ﬁ%{lo ’
AOCD i # 2.8 5 B w i#2) AEOD s FF 25 57
(A)20 (B)21 (C)22 (D)24

<jE$7>

@ A0

/AAOE: NAOC=EO:CO=/\BOE:/\BOC

x:(+8)=5:10—5y+40=10x > y=2x-8

/A\AOB: /NAOD=BO:DO=/\BOC:/\DOC

(x+5):y=10:8—10y=8x+40

10(2x-8)=8x+40 > 12x=120 > x=10

Cy=2x10-8=12

w25 AEOD=x+y=10+12=22 > i C -

- & A F(10 £ %)
Taiwan Preliminary (Grade 10)



10. IF'JOF’ "A~B~C~D :Fltwg,e sAD 1 OC > L ABC=23"
| LADO i #ics @2 (A)44° (B)45° (C)34° (D)35°

<fE$7>

""AD 1 0C

..arc CD=arc AC=2 ~ ABC=46"

— /COD= arc CD=46"

. ZADO=180"-90"-46"=44" > i A -

11 K94 5 SO B 33fd 3f > BB RY 5 Pe— 3k > B [Pex 5 b o 6 sk AP
%ﬁvm 2R2(A)2 B)2 (O )2
<f#47>
0 APR=% 8Bk T T A 4Tk 330 R ITE AP
N 5'3,—56 |A\—4'3'—35
o e AL _35 5
AR m%,ki_r—ﬁ—%_g ) B o
<¥ j2>
Beis - B ah=
12, [ g2 ds enT ) & St TR F o LW R P L TR A |
B g R > F L L ATE P B Sk A A T ol R
A ZEIS S A?2(A)168 (B)169 (C)170 (D)171 120 145 175 195210

B~ A L Hd P Xxiar~ax~a3~as~as > as
Al @1=120 ~ a6=120

6x7=1.5 = Qi=w=145 » 6x3=4.5 — QOs=a5=195
6x -—3 — O=""=175 0 astas=350

| % e = artartastastastas)+6=(120+145+350+195+210)+6=170 » & C »

3.7 19 £ 9 BT > EP-= BAp R T 5 - &> Hird S g 57 B4E2(A)30 (B)40
(C)SO (D)60

<jE$7>

1~9 % %% S B > T%ﬁ;c’ﬁ 4 i

= ﬁi;z‘jr'} 4 B e

UES S C3= 10;@ » @— B fcfed B fie CIxCh=30 44

£ 4 10+30=40 &

#iE B o
1 1 1 35 45 55 65
& +...+ = ° — — — —
14. 3 37:1x2x3 2x3x4  3x4x5 7T 10x11x12 (A) 264 (B) 264 © 264 (D) 264
<)§’¢ﬁ>
1 65 65
‘\4_— — | — — iy — — - = - —— — T — D
( 1x2 2x3) 2(2x3 3x47 T 2(10x11 llxlz) 2 (2 132) 2X132 264
i%i’ D -

- & A F(10 £ %)
Taiwan Preliminary (Grade 10)



15, 4o Bl > - b+ o % - w R Q\fﬂﬁiéa’?ﬁ:'}ﬂﬂil&,
Y @m0

4 b % A(l a) ~ B(2 b) RIAB 16 B 5 %
(A) Z (B) g © g (D) 5

<fZ$7>

(a, b)*TF Hin=6x6=36

ABiL i B B> A2 55 y=hx

(1,a) ~ (2, b) & » a=k » b=2k

Ok=1—>a=1+ b=2

Q@k=2—>a=2 » b=4

®k=3—a=3 > b=06

$ 3N Bl S ==t F Do

16. 4r+ B » A~ B D BRE RS AN A 243)=5 ¥ PR
AB} iz - B> $4835 OCPD & ff g % 87

(A=) 2 (©) = (D) =

<fE$7>
Rk P Eh(x, y)—>2x+3y= 5—>y—ﬁ
&35 OCPD w ## k—xy—x(s—zr)— ——x2+3x
5
= EZ_L_EQ L2 2 s
Y 23 4 kGt i X( )+ Y
#B-

17. AABC ® » /BAC=90" » LA~ /B4 T i RAD ~ BEX
3 1> AB=5» AC=12 » F£AI:1ID=? (A)17:13 (B)13:17
(C)15:13 (D)13:15

<jE$7>

BC=V5>+12*=13 » AD % 4 T i~ 3

*.BD:CD=AB:AC=5:12—>BD- 13x——%

BE: 4 T i %

AT TD=AB:BD=5: 2=17:13 > A~

8.2 & A\ABC > £A=90" » AB=6 » AC=8 » # *t.x O» p s [» R3]

A0 3E#? (A)] (B)§ (C)§ (D)%

<fE$7>
BC=V 6 +8= 10 =210 ¢
2

A0-BO-CO==5 "
® 13 JAOm&E%ﬁ—x ] %
AOAB AOAJ+AIAB+AOBI 5
S5k 26242 -52=2- 22 5 5x12+10=24 ‘A

2, % C A 6 B
X—g b

- & A F(0 & )
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19. 8427 4fe2 b4 7 @E2 0 ead- Bd S0 FFERF NI PG It ap
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<jE{7>
61:.:{1{21:;3@2115 .
X
429 232 (FRLEDHA)F =570
I F - k2 156946 ===, D-

20. % XER > T y=/ (-3 +/ (5 o Bly 2[5 P2(A2 (BB (C)3 (D)5
<fat5>
XER

y=J (x-3>2+J (+5)"={e-3 5|
Sy 2B B=3-(-5)=8 > ¥ B o

21. The figure on the right is composed of 6 semicircle arcs (& [f]5%)

and 6 i arcs(5%). If the diameter is 3, what is the area of the gray

part in square units? (A)9 7 (B)27 (C)30 (D)I12 7«
<ﬁ¢ﬁ>
J—bg]ﬂ ‘g“q’r w4 ?ﬁé’:{f_’jli
o F# 3><2><6 =27 E B

22. T & nFF 3k nl=nx(n-1)x(n-2)x(n-3)x:-+-- x3x2x1 > Gl4e: 41=4x3x2x]1 > F x!=6!x7! > R|
x=?(A)13 (B)9 (C)10 (D)42

<fE47>

x1=TIx6x5x4x3x2x1=71x8x9%x10=10! > R x=10

#Co

2 22 I LA

23. #7525 2252275227 L 35 % BIE € < 3 10001097 (2°=2x2x2=R)
(A)4 (B)5 (C)101 (D)1001
<ﬁ;+fr>
@10001000:(103)1000
@ a1=2

ar=2*=2x2=4

a:=22"=2"=16

as=24=210=210x26=1024x64=65536

a5:2a4=265536=(210)6553X26:10246553><26>(103)6553X64>(103)1000
% 5% EBe

- & A F(0 & )
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24. Refer to the diagram, the area of quadrilateral ABCD is 120 square D
units, ED=2AE, BF=2FC. G and H are midpoints of BE and DF, 4~
respectively. What is the area of the shaded quadrilateal EGFH? .
(A)30 (B)35 (C)40 (D)60
<fZ{7> F c
@w 825 EBFD=2(x+y)
w ) ABCD=3(x+y)
—w i$3) EBFD=2xw i# 2} ABCD=-x120-80
@w §; EGFH=a+b
v 875 EBFD=2(a+b)
—w $9) EGFH=xw i§ 2} EBFD=3x80=40
2540t £ 0w 0 o BB R - RRER S| 0 PRA A R B ek
Pooom 20 Bz frs (A)5710 (B)5720 (C)5730 49 €D 53| 55|57 | 59 | 61
(D)5740 47 |17 |@| 21|23 |25 63
<fE{7T> 45 15| 1 |®)| 5 | 27] 65
Qar=7=7+8x(1%-1)=b| Bl @267
as=T+12x2=T+24=7+8x3=7+8x(22-1)=b,
a6=T+12x2+20x2=7+8x(3+5)=7+8x(3%1)=bs 41|39 |37 |35 |33 | GD| 69
ag=T+12x2+20x2+28x2=T+8x(3+5+7)=T+8x(42-1)=bs 73 | @D

a20=b10=7+8%(10%-1)
D awrtastact....Faxn=bitbot. ... +bio=7x10+8x(124+2%+3%+...+10%)-8x10
> 70+8x 221 80-3080-10=3070
®a3=1 9=c
as=19+12+20=19+32=19+16x2=c,
a7=19+12+20+20+28=19+80=19+16x5=19+16x(2+3)=c3
ao=19+12+20+20+28+28+36=19+16%(2+3+4)=c4
an=19+16x(2+3+4+5)=cs
(k-1)(2+k)

a3=19+16X(243+4+5+6)=c=19+16x=—=—= (4 k=6)

=19+8(k*+k-2)=8k>+8k+3=8x6>+8x6+3

 219=Co=8X9%+8x9+3
aytastart....taj=citcrteit...... +c9
=8(1242243%+.. .. +9H)+8(1+2+3+...4+9)+3x9

=8><9X12X19+8><45+27=2280+360+27=2667

® a1t+(artastact.....Fax)t+ (astastart....+a19)=7+3070+2667=5740 > £ D -

- & A F(10 £ %)
Taiwan Preliminary (Grade 10)
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<fE47>

O $£A4C

© (¥*DE//AC » % BC** E 2t

Pl ANADP=/A\PCE

— A\ABE== i§2} ABCD

®(FBE? 80+ WD 5 F R

2. Suppose x is a real number, what is the range that satisfies the inequality |[x-2[+2[x+1|<5?
<f345>

O x=2 FF o (x2)R2(x+1)<5
—~3x<5 0 x< 1 (7 4)

@ % -1<x<2 P > -(x-2)+2(x+1)<5
—>x<1 - -1=<x<1

% x<-1FF > -(x-2)-2(x+1)<5
—-3x<5 0 a2 -1 <]
100

@-2<x<1

.
|4

- & A F(0 & )
Taiwan Preliminary (Grade 10)



